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Solve by Factoring:
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Obiect:

Today we will...

B [dentify basic properties of Polynomial
Functions

B Describe End Behavior of Polynomial
Functions

B Solve for all zeros of Polynomial

Functions
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An expression that can have constants, variables
and exponents, that can be combined using
addition, subtraction, multiplication and division,
but: L0 = 3y -2 ~ 7

FOO = dy
* no division by a variable.
+ a variable's exponents can only be 0,1,2,3,... etc.
* 1t can't have an infinite number of terms. |
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Degree/Solutions/Basic Graph

f(x)=x2 f(x)=x®> f(x)=x*

o g

f(x)=x°

/t(x)=-x5
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Equation Cheat Sheet

Even Degree Odd Degree
End Behaviors Match End Behavior Opposites
Positive Leading Negative Leadling Positive Leading Negative Leading
Coefficient Coefficient Coefficient Coefficient
Both Up Both Down Opposite Directions | Opposite Directions




Given a function: give the end behavior

(NO GRAPHING CALCULATORS)
1) f(x)=-x3+2x 2) f(x)=3x*"2x3+x-2
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3) f(x)=-(1/2)x2-1  4) f(x)=3x>-2x3+4+ 7%
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Solving Polynomials for ALL zeros
bg Lockor g



Ex1

x*+7x2+12x=0

X (x2+ A +2) = O
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X=0, X=-4 %=







Ex. 3 x*-13x% =48
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Given a graph: Match Each Polynomial With
it's Graph

(NO GRAPHING CALCULATORSII)
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a) f(x)=-x*-4x3+9x2+36x b) f(x)=-3x3-2x+1

c) f(x)=2x3+bx2-25x d) f(x)=2x*-3x3+x2+x-3


















